
1st Application:

1 TO 3 INCH SHOOTS: The shoot is 1 to 3 inches (2.5cm to 7.5cm)
long with 1 to 3 small leaves at right angles to the stem. 

Solution = 1tsp / 1l water

2nd Application:

10 TO 16 INCH SHOOTS: Shoots are 15 to 16 inches (25cm to 40cm)
long. Flower clusters are clearly visible.

Solution = 1tsp / 1l water

3rd Application:

IMMEDIATE PRE-BLOOM: The caps are still attached. No flowers are visible.

Solution = 1tsp / 1l water

4th Application:

BUCKSHOT BERRIES: Berries are the size of buckshot pellets.

Solution = 1tsp / 1l water
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SPRAY PROGRAMME: 
GRAPEVINE

5th Application:

VERAISON:Berries soften and change colour as they begin
to ripen.

Solution = 1tsp / 1l water


